
Klient

Kanzleinummer

Objektnummer Objektbezeichnung

Geschoss

PLZ Ort

Straße

Hausnr.

Fritz-Stachel-Platz
8230

1

Hartberg

1 Postamt, Wählamt Hartberg
2. Obergeschoss

81021
15

2.13A
Telekomdienste
PVC - Doppelboden
17,91 m²

2.13B
Stromversorgung
PVC - Doppelboden
25,18 m²

2.13C
Systemspez.
PVC - Doppelboden
37,68 m²

2.15
Gang
PVC
51,26 m²

2.13
Leer
PVC - Doppelboden
81,31 m²

2.14A
OES - Bedienraum
PVC - Doppelboden
37,00 m²

2.12A
Systemtechnik
PVC - Doppelboden
30,57 m²

2.14
OES - Raum
PVC - Doppelboden
80,32 m²

2.12
Hauptverteiler
PVC
30,97 m²

2.11
Stiege
Fliesen
56,15 m²

2.10
Garderobe Herren
PVC
19,50 m²

2.09
Kundendienst
PVC
21,84 m²

2.16
Verstärkerr.
PVC
182,79 m²

2.08
Kundendienst
PVC
17,07 m²

2.07
Lagerraum
PVC
15,90 m²

2.06
Lagerraum
PVC
15,82 m²

2.17
Gang
PVC
62,48 m²

2.16A
Büro
PVC
32,93 m²

2.18
Büro
PVC
36,25 m²

2.05
Büro
PVC
19,63 m²

2.03B
WC Herren
Fliesen
8,68 m²

2.02
Abstellraum
PVC
9,50 m²

2.01
Büro
Beton unversiegelt
21,73 m²

2.03C
Dusche
Fliesen
2,86 m²

2.03A

Waschraum Herren

Fliesen

3,76 m²

2.04
WC Damen
Fliesen
4,82 m²

2.24
Stiege
Fliesen
20,32 m²

2.23
Gang
PVC
12,87 m²

2.22
Leer
Beton unversiegelt
24,71 m²

2.21
Leer
Beton unversiegelt
14,60 m²

2.20
Büro
PVC
16,52 m²

2.19
Büro
PVC
20,02 m²

zurück

2.01

Lift

4,55m2
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